A
HOK =

1 MPUXOXAA 11.96 m?
2 CAHY3EA 4.58 m?
3 KYXHA-TOCTUHAA 23.97 m?
4 ClNAAbHA 19.43 m?
S TAPAEPOBHA4 5.48 m?
6 AETCKA4 24.61 Mm?
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MPUXOXAA
CAHY3EA
KYXHA-TOCTUHASA
AETCKAS4
FAPAEPOBHA%A
CMAABHS4

12.3 m?
4.42 M?
21.52 m?
21.98 m?
7.50 m?
21.93 m?
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MNMPUXOXAA
CAHY3EA
KYXHA-TOCTUHAA
CMAAbH4
FTAPAEPOBHAA
AETCKAA

12.08 m?
4,52 m?
22.40 m?
24.62 m?
5.68 M2
21.12 m?
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MPUXOXAA
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AYLLEBAA KOMHATA
KYXHA-TOCTUHASA
FAPAEPOBHA%A
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CMNAAbH4A

14.45 m?
1.74 m?
3.25 m?

19.70 m?
8.58 m?

21.12 m?

19.79 m?
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FAPAEPOBHAS
AETCKAS

12.60 m?
4.73 m2
22.92 Mm?
20.45 m?
7.18 m?
22.41 M2
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1 MPUXOXAA 11.95 m?
2 CAHY3EA 4.38 m?
3 KYXHA-TOCTMHASA 23.97 m?
4  ClMNAAbHA 19.42 m?
5 TAPAEPOBHAA 5.48 m?
6 AETCKA4 24.76 M?
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A
HOK =

1 MPUXOXAA 9.08 m?
2 CAHY3EA 1.74 m?
3 AYLIEBAA KOMHATA 3.25 m?
4 KYXHA-TOCTUHA4A 23.08 m?
5 CIAAbH4 19.50 m?
6 [APAEPOBHAA 6.60 m?
7 AETCKA4 25.76 m?
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